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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination

paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
Language | language key grammatical
messages knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1/Foundation Question 4
10 marks for Content + 6 marks for Quality of Language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot

9-10 of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is
5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little information
is conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.
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The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.

A minimum number of bullet points must be covered for the award of marks for Content, as follows:

7-10 marks: 4 bullet points

5-6 marks: 3 bullet points
3—4 marks: 2 bullet points
1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible,
in which case that bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I bought some clothes and went to see a film’, this is also an acceptable fulfilment of the task,
even though ‘shopping centre’ is not mentioned.

The bands refer to the amount of information that is conveyed, as follows:

9-10: alot

7-8: quite a lot
5-6: some
3-4: little

1-2: very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (ﬁ'&‘u’ﬂu, gfaqr etc) is classed as an opinion. A neutral or

descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think that’. For
example: ‘I think that my town is big’.
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Quality of language

Marks | Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
5-6 Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

3-4

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

1-2

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of Language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of 0
for Quality of Language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

» Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

* In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week'’.

* When considering the complexity of the language, you should bear in mind that a) this is the overlap
guestion and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not
always be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
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different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.

» The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

» There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Higher Question 2

15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of Language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of
13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.
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The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content. However, as the bullet points
are much more open-ended, there is scope for candidates to include information which is still relevant
but not in direct response to a bullet point. For example, when addressing a bullet point requiring a
response about a memorable holiday, candidates may refer to where they might go on a future holiday.
Any information which cannot be deemed at all relevant must be ignored when awarding the mark for
Content.

As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

* In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

* A candidate who conveys information in relation to one bullet point only can score a maximum of 12
marks for Content.

» Provided at least some coverage of both bullet points is evident, candidates will have access to full
marks where the other criteria are met.

» The bands refer to the amount of information that is conveyed, as follows:

13-15: a lot
10-12: a lot

7-9: quite a lot
4-6: some
1-3: a limited amount

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other
criteria are met. Conversely, a candidate may write much more than 150 words, but the language is so
inaccurate that only a limited amount of information is conveyed successfully. If a candidate writes
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

* The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15: at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a
justification of an opinion. A neutral or descriptive adjective is only classed as an opinion or a
justification if it is preceded by something like ‘I think that’. For example: ‘I think that my town is big’
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it is
big’ (opinion + justification).

» Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the three
marks.
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Range of language

Marks | Responses

Very good variety of appropriate vocabulary and structures. More complex sentences
10-12 | are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

Good variety of appropriate vocabulary and structures. More complex sentences are
7-9 regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are attempted,
4-6 using appropriate linking words, often successfully. The style and register may not
always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple.

1-3 Little or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Range of language and for Accuracy. A mark of O for Content automatically
results in a mark of O for Range of language but, apart from that, the Content mark does not limit the
Range of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
Range of language.

» Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the criteria
for all five strands have been met comfortably. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the five strands will not be consistently demonstrated. Once the correct band has
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the
band well. If the band above was a consideration, then award the higher of the three marks; if the
band below was a consideration, then award the lower of the three marks.

* There must be more complex sentences for the candidate to score 7 marks or more. For a mark in
the 10-12 band, the complex sentences are produced confidently, with few errors in structure; for a
mark in the 7-9 band, the attempts at complex sentences are mostly successful. Complex sentences
may be formed in some of the following ways across the languages: use of subordinate clauses; use
of relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend
greater fluency. This should not be seen as a ‘tick list’, but rather as an indication of the definition of
complexity at GCSE level.

» The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.
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» There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Accuracy
Marks | Response
Accurate, although there may be a few errors especially in attempts at more complex
5 structures. Verbs and tense formations are secure.
Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
4 more complex structures. Verbs and tense formations are nearly always correct.
Reasonably accurate. There are likely to be minor errors and there may be some major
3 errors, not only in complex structures. Verb and tense formations are usually correct.
More accurate than inaccurate. The intended meaning is generally clear. Verb and
2 tense formations are sometimes correct.
There may be major errors and frequent minor ones, and the intended meaning is not
1 always clear. There is only limited success with verb and tense formations.
0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it
is irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the
Content mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient
evidence for a very high mark for Accuracy.

» For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in attempts
at more complex language and the occasional minor error, but these will be infrequent. A minor error
is one which has no bearing on communication (for example, incorrect gender), whereas a major error
is one where communication is affected.

* For a piece of writing that contains a good number of errors, a useful starting point will be to decide
whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be 2.

* A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.
All verbs and tense formations should be considered here but as there are only two bullet points in
this question, only two time frames will be elicited. While some candidates will develop their ideas
and, in so doing, use a third time frame and different tenses, there is not the same requirement as
there is in Foundation Question 4/Higher Question 1 to refer to all three time frames.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

10
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Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

Conveying key messages

Marks Response
6 All key messages are conveyed.
5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.
3 Some key messages are conveyed.
2 Few key messages are conveyed.
1 Very few key messages are conveyed.
0 The f:ontent does not m_eet_ the standard
required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table:

Total ticks Mark

13 6

11/12

8/9/10

3/4

5
4
5/6/7 3
2
1

1/2

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

11
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Application of grammatical knowledge of language and structures

Marks | Response
6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 Very good knowledge of vocabulary and structures; highly accurate.
4 Good knowledge of vocabulary and structures; generally accurate.
3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 The language produced does not meet the standard required for Level 1 at this tier.

Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language
and structures.

« This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

» There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 5 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but just decided against it. This may then encourage you to give a mark of 2, rather
than 3, for Application of grammatical knowledge of language and structures.

+ |If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect use
of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.

12
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Appendix 1
Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of Language and Range of Language categories. They should not be seen as a
checkilist.

Variety of vocabulary

Consider particularly:

- use of synonyms, H" UFE Jd€T/IJol,gdT SISt

- different persons of the verb I3 (m),/ 3! (f)

» use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures

Consider, for example:

- use of infinitive constructions introduced by prepositions (&,%€1,3, §°3, f€9,58)
- use of object pronouns (83,831 &7, &t e, i €h)

+ use of disjunctive pronouns (8H € 578 / B8 € 31X etc)

» use of indefinite pronouns/adjectives such as 3‘8?,@5’, B(E'T, HS, H"%, E|§§ U2 etc

- use of connectives such as fa&fa, 7f, M3, feg
« use of adverbs and adverbial phrases such as Ud, feA d3dl, gx UH, de de J1, e st/ @3, GRS

. Use of negatves (et st o ot ot &3 &, T8 et i et &)
- use of comparative expressions (EH I, 24T, IaTT, ufe a1, TI3 I9T, UDHT)

- use of demonstrative adjectives and pronouns (f&Q, f&g ot etc)
- use of possessive pronouns (Hdl, HdT etc)
» use of superlative adjective (E'ﬁ%, Jd etc)

» use of complex sentences and a range of tenses (J&, E? A, Ao, T—FE*HF/EI’ﬁ).

Use of complex/longer sentences
Consider:
- use of subordinate clauses introduced by &, {8, fagfa, 7e 3" etc

- use of relative clauses introduced by J<, T%(H§ etc

13
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+ use of the present subjunctive after verbs of wishing, command, request, emotion and after 3t fd to
express purpose and, when considering use of longer sentences: QE@UQ%EIE

- use of co-ordinating conjunctions: feR &€, 7, U3, feq, Bt |
Use of time frames/tenses

» The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include ‘references
to two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the present tense:

H WIS feT fod g fe®H Ty Aiet It Ug B »idTd W3eTd & 31ed eHe AT 3dt I | i g It wa Tum »iret
It
» The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate

can impress by showing that he/she can use a good range of tenses, thereby adding to the range and
complexity of language.

Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

ambiguity

A problem with immediate communication caused by grammatical
inaccuracy or a contradiction (eg ‘I love it because it's boring’).

appropriate

Language which is suitable for the requirements of the task.

coherent

Language which is easy to follow with a logical sequencing of ideas.
See fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses. See
Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as fd€fa, ug,»3, used to create longer sentences.

longer sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words such as fa&fa, W3, ud |

major errors

Errors which impair communication.

14
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minor errors Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a
opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example, ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

The style of writing. Usually this will be determined by the nature of

style and register the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time

time frames frame, eg MJT® Je3 N fHEHT S¥T AT J (future time frame); U
0 ATt 399 Gt i figgr gt | (Past time frame).

Use of different verbs, nouns and adjectives which avoid a lot of

variety conspicuous repetition.

15
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Part 2 — Marking guidance for June 2021 series

Question 01
For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.
[16 marks]

Content

Level Marks | Response

5 9-10 A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 —8 A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 56 | Areasonable response covering almost all aspects of the task.

Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 34 | Abasic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1=2 1A limited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level Marks | Response

3 5-6 . . .
A variety of appropriate vocabulary is used. Complex structures and sentences

are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:
« the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).
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Question 01.1 Content

Bullet Comments
Accept past tense time frame eg

fenmrg g9 ot Fam Bfam
g3 ge3 Na FaTeT foma H | 1 femmg e
e Bfam faG s ArgT Yyt 3T 3 Iraq A |
Accept information about big parties

ISt urgngt g7q
TSt urgdnt NS Tttt Sarentt I | fenrrg &t
UTgdt 993 31 H | fonma fea ym Ve I w3 23t
UTact I9aI grdtet J |
Accept positive/negative opinions

3JeTET ¥'d 3J73 fegd
HaT foors J feng feg ISt AT W3 § 3ueT e &
WU UyHe &t I8t S & Aae |
Accept future tense time frame only

3T fenmg oo Sae@at
A3 A &t §Hg feg mue rfad @ Igems
Jatan/aataft | Ha femma 3 feemt 3 S A
ISEECIRAUSECI

Question 01.2 Content

Bullet Comments

Accept past tense time frame eg

Rt gt 199 ot ot Rt STaintt it ot 9 3 s el
fam /Y | wiAt Ifoeg Afog © Tors 990 993
YR I |
Accept information about weather

gl

A1 R e ST ST HAH UFe 398 3 A gt 1S9 JraHt &7 i ure ggeT/ Jaet af
fa8fa fos 88 72 go M3 A YU Faft BarEt J |
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Accept information about place/destination

MBS BRI STBIHOURC T | < g1 3 oo e v vrosusfer at DFgm 3 1
I8 3 M3 MTeles oed 2ye Arefar / Areiaft
fag*fa feg Nt HauHe giet g5 |
Accept information about food/meal

et feg yels g9

N fegd o7& g<ii I e Yy YT grdier J |
N g7Jd8 @R €T YT YA gdeT / ddd] It W3
e S wet €8 Tyt yieT /gt gt |

Question 01.3 Content

Bullet Comments

Accept past tense time frame only
IUsTYifeHd Ag fam 3gf e H ‘
N3 Yrfeqdt Ag® <t Ht ug BaaT /Y | ¥ 3 WY

THTS AgS fTg S Uge Je Ml |

Accept present tense time frame only

P

dlc

JT TH A N ATS3T IS

1

[
HJ AgS et &<t Bifegdt feg Sfontt $et dHegd
IBY I TS | e HO UBT B 2SI HE S T3 |

Accept positive/negative opinions eg

UITEL g3 9al I M3 AgS € mftnud
fefenragvt € 993 Hee Jae J& | fefenmrast
faR 28 S miftoudt 3 Ug Ade I35 |

fefenagin €t ugrdt 579 3973 fegg

mﬁgﬁg—m FREL U] Accept future tense time frame only

Wl 2@ JI& Y feg Are graiar / graian fa8 fa i
I Y3 g3 UAE ddeT/ Jael JF | HJ eA3 /
Hat Ad& T 1 feR I8 g feg ATe I |
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

Question
01.1

This is a possible response (indicative content):

fUgs €3 W 397 & fenrrg /i | 1S fenmg e yrer Avie Sfomi fagfa
FTIT YT 3T 3 T FT | SISt utgengt g Fatttt sareint I | feammg
Stugdt gg3 ST A | fonmg fed yA Har I w3 S51 uadt gaat ordtet d
| W3 i 3 femmg fSg gt AT HE § 3ueT e Sl aae YR e Idie 0%
3t fa feat Uit &% G »my ure € I8t i @ Ade | A ASTE s o
13 &9 qraem T8 fenra gaereian / gaereial M3 B &3t uradt
Jgtar/ JJtdft | HY femg 3 feert 3 €t AT far3eg migdl |

(96 words)

[16 marks]

or

Question
01.2

This is a possible response (indicative content):

IIIHIT Eoit gt feg B Uame arel/fam /it | midt afoeg mfag ©
TIHG Jdd II3 YA T | A gt &g a19Ht & iAW ude agev/adet gt
IS fa few F8 g2 Jo M3 HE Tu Jaft Saret J |

s 3 TS BE S Houre g Ufgr J | B* f3aa1d 3 M3 meles eed
N fe9Td 318 gt 3 AET YT YT 9idieT J | B 91998 TRt er gyt yie
JaeT/agdt It w3 ffg €t Aret 878 Tyt et/ yidt It |

(91 words)
[16 marks]
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or

Question
01.3

This is a possible response (indicative content):

NI YTeHdt Ags g<T H U3 BT AT | B3 B AHTST AgS [f9 oo
CECREl

N AgS ot o<t regdt feg Sfont Bet IHedd a8 Je I6 | fage He
YT BE TSI HES TS |

UzTE! 993 991 I M3 Ags € miftinud fefenaeint €t 593 Hee
Jae IS | fefemradt fan 2@ S niftmmuat 3" g Fae I& | A It &
J&Y feg AT 9raigr / graian fa8 fa i et 3 993 UHe

IJEIdE! It | NI EH3/HIMT AaEt & feR aeg feg AR Ia |

(88 words)
[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the

other criteria are met.
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Question 02
For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
qguestion. The number of words is approximate and you must mark all work produced by the student.
[32 marks]
Content
Level Marks | Response
5 13-15 . . .
An excellent response which is fully relevant and detailed, conveying a lot of
information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.
4 10-12 L .
A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.
3 7-9 . . . : :
A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.
2 4-6 . . .
A reasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.
1 1-3 . . - . ,
A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Notes
There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level Marks | Response

4 10-12 | Very good variety of appropriate vocabulary and structures. More complex
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7-9 | Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

2 4-6 | Some variety of appropriate vocabulary and structures. Longer sentences are
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and

1 1-3 simple. Little or no awareness of style and register.

The range of language produced does not meet the standard required for Level

0 0 1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy
Level Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The content does not meet the standard required for Level 1 at this tier.
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Notes
()
(b)

A major error is one which seriously affects communication.

A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

« the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).

Question 02.1 Content

Bullet Comments

This is a possible response. Accept past tense:
general use of technology eg mobile phone,

Ug® AN T8 a8 et ea3" computer, laptop etc.

W/ mirty

Ufgst B SI&BH € 293 W JII¢ AS UJ IS
2SS M3 HIFTR ST HI3ITTU ITEt J | HE &
HETES 36 3 MU ER3T/MTUET ATS T 5155
JBET3 I3 YHT I8t | ' Erar+ft & "o fes
Tt IRt ST w3 Buey 3 fesgry ATt
femH et vt |

Accept developments relating good/bad effects,
SHTTS 2 AES HIST advantages, disadvantages of social media — time
frame present, future

S HIFTE J9d g wirt I9d & Huad feg It |
Y3 IIC TS | SATTS Sodl BFE BT M3 IUTd
o1 334t Bt e St 233" q9e I | FEt e
AT 3oyt Hie 3 A HiSTE 3 st arearat
3 Wls JIIe I Ud o Araardt IR At st
Jdt | I3 THSTS WUt AN Ufgerg it
mitmiug €t g9 ARS HZT 3 AT dge I35 |
I3 B foA ATaTdl €1 3% 3 €93 Jde I& fan
JIS SALTS UIHTS T fed gr Ae I6 | 3fey
grdter J|
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Question 02.2 Content

Bullet Comments
Accept developments relating to general issues of
JWJ BT T HHI ST homeless people, (present tense)

A3 Hfdd fe9 993 SWd B9 A=A 3 @’ &
gdd 33T JIAde IS | JEt e I Y AAT IS
M3 A e BT I I AR I | SETHAH g
g U< AN o0 SW3 8 §93 T de I | U3
W3 Jed &7 J< I faHImt e g Je I& |
JWI TS |

Accept developments relating to general future
Sfey fag g B & Hee Bt HS™ activities

Jgt &t Hee Bel oH € 398 &1 YEU JJ& frA
&% I mdI AT Sdt B AdE | H G Uzt oM
gBTgge 3T U forma 3 VR e A &5
feg nuat fifedtt Hurg Aaed! | 9fgct w3 uafia
Feret e B 3 U WM B Y QT 5 e 3
WJ T M3 UTE ST B1d BTG | B Utde e
odH JIgd Bt &t Hee Jaidft/ Igtar |
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Question 02.3 Content

Bullet Comments
Accept present tense time frame eg
UTde ITEH ofH Id& © SIfEe M3 AT advantages, disadvantages of doing a part time job

UTge TTEH IH Jd% & et e I | fefenradt
UZTE € &% I3 WS IH J9d UH aHT o HEUHE i
YdlE AT & | UTdS TTEH ofH Iddl ofH &7 3dadT
fimer 3 1 3fey feg Jadt 8= feg Heeara JeT |
et fefenradt o4 Jad UR 3t &2 I8 Ug ugret
3 YT s &t e (a8 e Bt d& AHT &dt eer 3
"3 feu fUg afoAe 9o | Ao fegg T fa Aad a1
JI&Td 3T A YA HIs3 B T |

Accept future tense time frame only

Har g 3 iy feg & ffead ¢ ardt wd™ oH
frmmer Jaadl, Te3df fed We | fer o1 e-
WTET 1 AHT g9 A2 dTT Ud 3 mur feg ufe
! | feg A FE T J | FgS A gateaHel
gfgntt Tt ofH & 3Ad9 &7 Y&U J96 faA &%
Sadt st Adt 32 | 3fey feug daeTs Jadt Bt

gTJd& TR ST AT UHE Jaa4 |

gfey fog Sadt

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

27



MARK SCHEME - GCSE PANJABI- 8683/WH — JUNE 2021

Either

Question
02.1

This is a possible response (indicative content):

ISt B 2TEE1 T 293" U TI AS U IS T8 M3 HiFTe &t
HJ33T U ITE! T | IS 9& HETEs 88 3 My €R3t/ miuahit gt
ST JIBET3 JJd YHT I8 | B EmeT ft & Ao fes &t 3retat et w3
Jueny 3 feggry Yardt femH et At | i HiFtE 9ad I miHt Joa ©
Hugd feg I | areTs RS High ardt wa 88 &<t Areaat Y3 Jae
IS | SASTS S BI BT W3 Ut Tt 31 B feA T 293 qae 6 |
Iet T3 EALTS 3oyt Hie F ARs HiSTE 3° fist ireardt 3 vdls Jde
I U3 fog ArEarat THIT At &t It | % SaeTs miuat AHfiT
ufgera 7t miftmiud &t g9 ARS HighT 3 AigT Iae J6 | I3 &d R
HTEATd € I3 293" Ide IS fH 196 SHeTs UdH M g g A
& | Ifey fTg Saeiat & fer € @93° a9 AN s qua grdter d

(153 words)

[32 marks]

or

Question
02.2

This is a possible response (indicative content):

A3 Afdd feu 973 SW3 89 AT 3, Td7aT 2 I1Jd 3137 Jidde I6 | I
II 3T FYTART Tesm3 fer a8 BT g I AR I5 | S HAH feT
g9g UT AN fEg Wa B3 973 91 IR T | U M3 Jted &7 IS JJd
fardntt &1 firarg Ie I8 | HE BaTerd Udme &t e B8 3 feg uie
B GUT TS | H JITI/ITTaT i o A w3 Ifact argu Sua o &t Hee
e oH © 399 T YIU Id& A 578 Gl AT 3T S Ade | 4 69
MY H HZST 91 31 4T W fand 3 UR 2 fan &8 feg muet
fedlt HUg Ad<al | 9fgdt w3 UdfHa HFAEe SuWg 8T 3 WS YR 8 d
ot & faae 3 Wy BT M3 YT BE BJld FAMEE | AU T8 oH
J9d Gt & Hee Jaigit/aaar |

(150 words)

[32 marks]
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or

Question
02.3

This is a possible response (indicative content):

UTge TTEH oH I96 € JEt afee I8 | fefenTaEt ugtdt € 578 I3 wie dH
I3d UR IHT HEUHE T Ydte AdE J& | UTdS 2T SH I3 oH &7
3Hd fHseT I 1 ey feu Sadt 8= 9 Hewara Jor J | at fefenmast
JH J3d UH 3T T &' I8 Ud UZTE! 3 YaT fmrs st fide fa8fa Gt
I% AHT &dt g9eT 3 A3 feT fUg afa Ae I | HaT fewra 3 fa A o
JI&Td 3t el & ydt HIs3 5% 39 | i o J Ifeu fRe &d
ffegs” 2 Idt wa™ I fimer daadl, ee3df g We | for & Are-
WTEE €1 AHT g9 A=dT Ud & WA feg wie fHsadl | feg Ag Bet Uz d
| Ag® At gateaHd gfont Tt i € 3799 T YEU 996 (A 575 dadt
st it 92 | 3fey fes SaeTs Jadl Bet a1aa ot feg e ure
qI&TT |

(146 words)
[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum mark
is 12. When awarding the marks, the student’s response across the passage should be considered as
a whole.

[12 marks]
Conveying key messages
Level Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level Marks | Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

The language produced does not meet the standard required for Level 1 at this
tier.
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Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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The translation is divided into 13 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

1 mark 0 mark

1 | When | was young, A 8esdl A 3t gt
2 | I played the role of a soldier Sl T I 3T H | &
3 | in a school play. AgS € SaH/&Ted/feT o3t
4 | My friends said that HY ERSTHIHT AT & foraT /| 593
5 |l was excellent. fa N ggz et aiaT| g
6 | We listen to Panjabi songs YTt e Hee It | e
7 | when we do exercise " WH JAI3 Jae Ji 3 dHI3
g | 'would like to become an N &g I &T ggian/argian JBITG

artist
g |becauseitis an interesting fagfa feg feat fesamu=dhr i S

job. 3
10 | Next year MITZ H'S %
11 | I will go to Paris W Ufgn wetgn/Aeiah Ufgn
12 | and study music 3 Haf3 €t ugret aaiam/agiat | Haft3
13 | in a university. G@ﬂ%ﬂfﬂﬁfﬁg W

Other reasonable alternative translations will also be accepted.
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A tick will be awarded for each key message that is communicated, despite any minor inaccuracies.
The total number of ticks awarded equates to a mark according to this table.

Total ticks Mark

13 6

11/12

8/9/10

3/4

5
4
5/6/7 3
2
1

1/2
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